NORTHFLO

POOL EQUIPMENT

Inert the post (K) into the base (b)
Set the lock ring (g) and post chassis (d) to
the post and fix by (q)

Position the base at playing location near pool edge

Open one of the base covers (h) and fill with water

Step 3

Overhang arm assembly
Use M8X80(o) to tighten the backboard arm(j) with clamp (f) and (e)

Backboard assembly
Use M8X50(P) to tighten the backboard (a) with backboard supports (c)

Use M8X55(n) to tighten the rim(i) with overhang arm assembly and

backboard assembly

SSEMBLY INSTRUCTIONS

Parts list

Description

0
5

Backboard

Base

(1]

Backboard
supports

Post chassis

Clamp 1

Clamp 2

Lock ring

| Base cover

Rim

Backboard arm

Post

Basketball

Net

M8X55

M8X80

M8X50

M14X50

Nut

Gasket

| Spring gasket

cle|lw|sloalwlo|s |3 |—|m|—|—|Ta|=e o

Post cap

_.._n._;a‘_;m.p.p...s_n_u_s_nh_l..a._x_;m_;_;
LL -




